Answer Key

Lesson 4.4

Challenge Practice
1.
Statements

Reasons

1. LM = JO, MN = ON
m/ LNK = m/ JNK
2. LN = LM + MN
JN =JO + ON
3. LN =JO + ON

4. LN = JN
5. LN =JN
6. NK = NK

7. ALNK = AJNK

1. Given

2. Segment Addition
Postulate

3. Substitution
property of
equality

4. Substitution
property of
equality

5. Definition of
congruent
segments

6. Reflexive property of congruence

7. SAS Congruence

Postulate
2.
Statements Reasons

1. D__C = i_F 1. Given

2.FD 1 DE, 2. Given
CA4 1 AB

3. LEDF and £ BAC| 3. Definition of L lines
are right angles.

4. LEDF = £ BAC 4. Right Angles

Congruence Theorem

5. DF = DC + CF 5. Segment Addition
CA=CF+ FA Postulate

6. DC = AF 6. Definition of

7. DF = FA + CF
8. DF =CA

9. DF = CA

10. AABC = ADEF

10

congruent segments
. Substitution property of equality
. Substitution property
of equality
. Definition of
congruent segments
. SAS Congruence Postulate
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3.
Statements Reasons
1. DE = BF, 1. Given
AE = CF
2. AE 1 DB, 2. Given
CF L BD
3. LAEB and £ CFD | 3. Definition of L lines

are right angles.

4. LAEB = L CFD 4. Right Angles
Congruence Theorem

5. BE = BF + FE 5. Segment Addition

FD = FE + ED Postulate
6. FD = FE + BF 6. Substitution property of equality
7. FD = BE 7. Substitution property of equality
8. AE = CF 8. Definition of

FD = BE congruent segments

9. NAAEB = ACFD 9. SAS Congruence
Postulate
4.
Statements Reasons
1. OR = ST, 1. Given
ou=Sr
2.RS| OT, OR | 7S 2. Given
3. LRQU = L UST 3. Alternate Interior Angles Theorem
4. QU = SV 4. Definition of
congruent segments
5.0V =0U+ UV 5. Segment Addition
us=ur+Vrs Postulate
6. OV =8Sr+ur 6. Substitution property
of equality
7. OV = US 7. Substitution property of equality
8. OV =US 8. Definition of
congruent segments
9. AQRV = ASTU 9. SAS Congruence
Postulate

5. You are given that #S = RQ. In the diagram, you can see that SR || PQ. Therefore, by the Alternate Inte-
rior Angles Theorem, you can conclude that £ RSQ = £ PQS. By the reflexive property of congruence, SO
= SQO. You can now conclude that APSQ = ARQS by the SAS Congruence Postulate.
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In the diagram, you can see that £ STV and £ QUV are right angles. By the definition of a right triangle, you
can conclude that ASTV and AQUYV are right triangles. You are given that SV = QV and ST = QU. There-
fore, you can conclude that ASTV = AQUV by the HL Congruence Theorem. Because ASTV = AQUYV,
you know that TV = VU. So, you can conclude that 7 is the midpoint of 7U by the definition of the midpoint
of a segment.

6. X(4, 10), ¥(15, 3)



